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] function [x,t,it] = GaussSeidel(A,b,I,eps)
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% I: fe RIEAIREL

Hith- S s
e M ESAW/N
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&

0

| La 2.0303 1.2273 0.0ab7
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3 a.003a .336d 0.33a3 0.0
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b
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if nargin < 4
eps = le-6;
end

[n,~] = size(A);
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s - e | 3 / I 2.43E-06
Fe@LN §
X_exact = A\b;
it = 1;
] for k = 1:7-1
X = G*x+f;
if norm(x_exact-x)>eps
it = it+1;
%izan 4 MfE R SR — S kg R s sl R, PR ENEE, priiEn?
[k,x"]
norm(x-x_exact)
end
end| A — _ A 3 () A3 D, ,h;{
IAEIEHEREE, G-SiE{XiEELJacob ik KAWL
t = toc;
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B @ =1.3 SIRERERA

x(") = (-0.9999646,~1.0000310,-0.9999953,-0.9999912)

Hg(ll)

2 <0.64x10™.

3 oBEME, EAREIITER, NILHIBER, WStEFERESE, <F
SORFEACERIBELAKRINE, Afldw = 1.32&EMRMETF.

WEET | BERE - x| <107 MERRE | WEERT | AeRE
1.0 22 1.5 17
1.1 17 1.6 23
1.2 12 1.7 33
1.3 11 1.8 53
1.4 14 1.9 109
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function [x,t,it,w] = SOR(A,b,I,eps,w)

% FEIUHFABLI%AL: (successive over relaxation method )ikt i
% fiﬁ])\

% A: FHEUEPE

% b: HAFEEFE

% I: s NIEAIRE

% w: FASBPR T (w=1 MEIAN Gauss-Seidel ikftik)

%
% x: fiRHERE
% t: WA

% it: AR A >SN 2k

Fiw no IR EL Xl xZ X3 X-X_exact
% EACHMEBIH e
tic

[n,~] = size(A);
x = zeros(n,1);

20863 21306 2147 [.434
3.0034 2.0121 [.3845 0.0218

D = diag(diag(A)); %K A [0t fiiHilE
L = -tril(A,-1); %R A [ F=fmpfF, A0 fask

WAL b 30084 985 09975 00101

F pglp} 3.0001 2 0.3331 d.7ak-0a
2 7 | 3.28E-0a
2 7 | b.B83E-0k

end

if nargin < 5
w = w_opt;

end

0
|
/
3
W_opt = 2/(1+sgrt(1-(vrho(D\(L+0)))*2)); % Ktk 1 4 2.9984 2.0003a .0008 0.0018
J
i
T

Lw = (D-w*L)\((1-w)*D+w*U) ;]|
f = w*((D-w*L)\b);

x_exact = A\b;
it = 1;
for k = 1:I-1
X = Lw*x+f;
if norm(x-x_exact)>eps
it = it+1;
end
end

t = toc;

end 5323
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